Chapter 15 “The Nation Breaking Apart 
1846-1861”
Section 1 “Growing Tensions between North 
and South”

Main Idea: Disagreements between the North and the South, especially over the issue of slavery, led to political conflict.
Terms and Names: 


1. Wilmot Proviso 

2. Free-Soil Party

3. Henry Clay

4. Daniel Webster

5. Stephen A. Douglas

6. Compromise of 1850

Notes

I. What different paths did the North and South take and why?

A. North and South develop different economies


1. North becomes industrial (manufacturing in 


factories)



a. money is invested in industry and 




transportation




b. ties strengthen between North and West


2. South remains agricultural (cash crop farming)




a. money is invested in more slaves




b. the South remains isolated
II. How did antislavery and racism effect the North and South?

A. Most whites in the North, although prejudice by 
today’s standards, were opposed to slavery.
1. abolitionists felt that slavery was morally wrong but they still didn’t want to go to school with African-Americans or live next to them        


2. white workers in the North felt that slavery 


threatened their jobs  

B. Slave holding whites in the South defended slavery by stating one of the following racist arguments:


1. whites were superior to blacks



2. slavery gave blacks Christianity



3. slavery took care of blacks by providing them 


food, clothing and shelter

III. What was the Wilmot Proviso?  (1846)

A. A proposed bill that would prevent slavery from 
expanding in to any territory acquired as a result of the 
War with Mexico

B. Although it never became a law, this bill had two 
important consequences:


1. it led to the creation of the Free-Soil Party


2. it made slavery a key national political issue
IV. What was the controversy over territories?

A. Should states that formed from the territories acquired 
as a result of the War with Mexico be admitted as free or 
slave? 



B. Specifically, should California’s application for 
statehood be accepted when this would upset the balance 
of power in Congress?
V. What was the Compromise of 1850?  And what was the consequence of it?

A. Henry Clay devised a plan which would admit 
California as a state and keep the North and South from 
going to war


1. To please the North



a. California would be admitted as a free state 



b. slave trade would be abolished in 




Washington, DC



2. To please the South, 



a. no more laws concerning slavery in the 



territories acquired from the War with Mexico 


b. stricter laws to help slaveholders recapture 


runaway slaves

B. Stephen Douglas, a congressman from Illinois, gets 
Clay’s plan passed and made into a law
C. Although some people celebrated this compromise, it actually increased tension. 
Chapter 15 “The Nation Breaking Apart

1846-1861”
Section 2 “The Crisis Deepens”

Main Idea: Turmoil over slavery led to acts of violence.
Terms and Names: 


1. Harriet Beecher Stowe

2. Uncle Tom’s Cabin

3. Fugitive Slave Act

4. popular sovereignty

5. Kansas-Nebraska Act

6. John Brown

Notes

I. What was the Fugitive Slave Act and what were its consequences? (1850)

A. A law that helped slaveholders recapture runaway 
slaves.  African Americans were not served arrest 
warrants nor did they receive a trial.


1. Southerners pleased about the law because they 

felt it protected their property 


2. Northerners angered by the law because



a. it forced them to help capture African 



Americans 




b. it placed fines on those who would not help




c. it imprisoned those who helped African 



Americans escape

II. What was Uncle Tom’s Cabin and what were its consequences? (1852)
A. A book by Harriet Beecher Stowe that dramatically portrayed the immorality and brutality of slavery.  It was extremely popular in the North and caused more to join the abolitionist movement.
 III. What was the Kansas-Nebraska Act and what were its effects? (1854)

A. A law passed that reversed the Missouri Compromise. 
It allowed the issue of slavery to be decided in the 
Kansas and Nebraska Territories by popular sovereignty, 
i.e. residents vote to decide issues.
IV. How did Kansas get the nickname “Bleeding Kansas”? (1855) 

A. Anti-slavery and proslavery settlers clash in Kansas. 
John Brown, an abolitionist, is responsible for murdering 
five proslavery residents. This starts a civil war that lasts 
for three years.
V. Why was there violence in Congress? (1856)

A. Preston Brooks (a relative of South Carolina Senator 
A.P. Butler) attacked Massachusetts Senator Charles 
Sumner for delivering a speech which attacked Butler 
and the proslavery settlers in Kansas. 
Chapter 15 “The Nation Breaking Apart

1846-1861”
Section 3 “Slavery Dominates Politics”

Main Idea: Disagreement over slavery led to the formation of the Republican Party and heightened sectional tensions.

Terms and Names: 


1. Republican Party 


2. John C. Fremont


3. James Buchanan


4. Dred Scott v. Sanford


5. Roger B. Taney

6. Abraham Lincoln

7. Harper’s Ferry

Notes

I. How did the Republican Party form? (1854)

A. The creation of the Republican Party grew out of the 
problems caused by the Kansas-Nebraska Act.


1. Whig Party members from the South supported 


the new law and some of them joined with 



Democrats.


2. Whig Party members from the North opposed the 

new law and joined with other antislavery groups to 

form the Republican Party
II. Who ran in the election of 1856 and who won?

A. The candidates: 
1. John C. Fremont for the Republicans

2. James Buchanan for the Democrats


3. Millard Fillmore for the Know-Nothings

B. The presidential election broke down into two races: 


Fremont vs. Buchanan in the North and 


Buchanan vs. Fillmore in the South
C. James Buchanan won, Republicans proved they were a major political force and the country was truly split
III. What was the case of Dred Scott v Sanford about and who won? (1857)

A. Dred Scott, a slave, sued for his freedom in 1846. He 
argued that he and his owner had not only lived in MO 
which was a slave state, but also several different free 
territories. Therefore, he should be considered free.

B. The case went to the Supreme Court in 1856

C. Scott lost the case.  Judge Roger B. Taney ruled that 
Scott was not a U.S. citizen so he could not sue in U.S. 
courts.  He also said that Scott was bound by MO slave law 
so he was just property.
IV. What were the Lincoln and Douglas debates about and who won? (1858)

A. Abraham Lincoln fought Stephen Douglas for his 
place in the U.S. Senate.  
B. Lincoln (Republican) argued that slavery should not be allowed to expand.  Note: He did not argue that it should be abolished.

C. Douglas (Democrat) argued that the issue of slavery 
should be decided by popular sovereignty.

D. Although Lincoln lost the Senate race; he became 
nationally known and an important person in the 
Republican Party.
V. Why did John Brown attack Harpers Ferry and what was the outcome? (1859)

A. Brown raided an arsenal in Harpers Ferry, VA.  He 
hoped to arm local enslaved African Americans so they 
could revolt.  He failed. Consequently, Brown was tried, 
found guilty and hanged. 
Chapter 15 “The Nation Breaking Apart

1846-1861”
Section 4 “Lincoln’s Election and 
Southern Secession”

Main Idea: The election of Lincoln led the Southern states to secede from the Union.

Terms and Names: 


1. platform 


2. secede

3. Confederate States of America (CSA)

4. Jefferson Davis

5. Crittenden Plan
Notes

I. Which political parties splintered and why?

A. As the presidential election of 1860 approaches, 

Democrats split over their position on the issue of slavery.


1. Northern Democrats want popular sovereignty on  

their platform; they nominate Stephen Douglas



2. Southern Democrats want a straight proslavery 


platform; they nominate John Breckinridge

B. Republicans nominate Abraham Lincoln.


C. Constitutional Union Party nominates John Bell; their 
platform-to preserve the Union.
II. Who ran in the election of 1860 and who won?

A. The presidential election again broke down into two 


races: 





1. Lincoln (R-extremist) vs. Douglas (D-moderate) 


in the North


2. Breckinridge (D-extremist) vs. Bell (C-moderate) in 

the South


B. Abraham Lincoln won; voters were tired of compromise
III. Why did the Southern states secede and what was the result?
A. Southern states warn that if Lincoln is elected president, they will 
leave the Union

B. December 20, 1860 South Carolina becomes the first 
state to leave the Union

C. Six more Southern states follow; they form the 


Confederate States of America and elect Jefferson Davis as 
their president
IV. How did the Union respond to secession?

A. The Union declares the South’s move to secede 
unconstitutional.  

V. What efforts to compromise failed and why?
A. Senator John Crittenden presents a last minute plan (an amendment to make slavery legal), just before Lincoln’s inauguration, offering a compromise between the North and South. Congress votes it down.
